BEmE

1.00

§=1/50

1.00

1.00

iiEAs

SRS EES

1EIB%5% A=0. 3+16. 3=4. Im2

BKE - BEEMT
e

Hasy

AstlET

TiEAs

ER L=16.30m

o
o
o

e
PR = ————
29 s EFiRMT — RS-RISB =16 (5%)
S &R (4 KREELEA D)
’ 2
Br @
$=1/20
X
‘)56)\&‘ P\>
#HiLEIR
020 D13 1=0. 15
‘ @500
TTiEAs ‘
AS =50 T
§ RC-40 R H RC-40
| B
SHLERR B
0.60 0.20
T
#7 B | %@
K iR m3 0.2
HREL m3 0.1

P0.0 (G@sk0)

R

==l
iP |I|||||; |

BAEVUI00 L=0.4 N s o L &l
V00 90° L Nt BLERASIE -._\\\\éf_;xﬁﬁr%il__—J_ ‘_..|
VTR N
I 4 T
N ) - 50
B &
(BEHK) SV/D
0.10, _0.15 ‘ 0.15 ‘ R E2Con I$§&%§
T
2 T T U ° tT
. T oh—EE pe
’ L2 ’ R 10,216,075, 28 % 4 —RS-R15B  L=1.0%16=16.0
- \ _ Y a—%—RS- =1. 0%16=16. Om
0.40 L5013 HERL  V=0.1x16.0=1. 6m3 )
. i%ﬁ@zi V=0. 1%16. 0=1. 6m3 O,
'-_’F'f ’/l\Ell_(;;ES_R;SE) L=16. Om ALY L=16. 0+0. 6%x2=17. 2m Con V=0.06%16. 0=1. Om3 T
R FEAE AN 3 — — 2
Fhtryd e SHEERRBEEE A=0. 6%16. 0=9. 6m2 R4 A=0. 4516, 0=6. 4m2 %
- . \ V= —| A = =
AsiEifl - 4053 V=9. 6+0. 05=0. 5m3 £ UBOI3) 0. 1543240 99524 8Ke %ﬁ_zgﬁm A=0. 3%16. 3=4. 9m2
HWiEmEREL - I8 BAEWI0 L0, 4m Mfﬁ:ﬁn
) Con  V=0.1%0. 3%0. 220. 01m3 VU100-90° L Nt KEFHREG 104
RIET
ikl B HE
Con m3 0.06
B m2 0. 40

RE&F e ‘fﬁﬁR‘ m

IHEE | mEBREEERETE

TEER mET BHR

BEHER

BT mEMERRER mE 1
58| 1




